1210248 (K12n0948)

Linearized knot diagam
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Solving Sequence

6,11 >7->12>35—>2—>1—>4—>10—>8 — 9 —> (3,C8,C12
6 Ci11 C C2 C1 C4 Ci0 C7 Co

Ideals for irreducible component#ﬂ)f Xpar
It = (—u'? + 2u' — 9u!® 4+ 150 — 29u® + 38u” — 40u® + 37u® — 22u* + 12u® — 3u® + b —u + 1,

uw® —2u 4 a2 wtT =20t —Bu41)
Iy=0b+u+1, —ut = — AP+ a—2u -2, u5+u4+4u3+3u2+3u+1>

* 2 irreducible components of dim¢ = 0, with total 22 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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1.
It = (—u'?42u't +- - -+ b+1, u'®—2u'+.. . +a—2, w7 —2u'6+

(i) Arc colorings

—ult +2u1® + ... —8u+2
u? =20+ u—1
2

u®+1
as = u?
_|_
—uB+2ut? . u—1
(—u13 — 8ult — 23u® — 30u” — 20u° — 6u® — u)

ag =

2u15—|—~-~—8u+1)

ay =

—u” —4ud — 4ud — 2u
ag = —u” — 3ud +u

(ii) Obstruction class = —1

coe—3u+1)

(iii) Cusp Shapes = —u'® + 2u!® — 14y + 244! — 78u!? + 110u!t — 216u'® +

235u? — 298u® + 219u” — 164u’ + 39u® + 14u* — 52u> + 34u? — 21u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1 w4+ 28uC o ATu 1
Ca,C4 " —6u 1l —1
C3,Cs w4+ w4+ 4320 — 32
Cs, Ce6, C7 W o 3y — 1
€10, C11
Co u'” +2u® 4 -+ — 20u — 100
C12 W 18u 4w —1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1 y'" =72yt . 42319y — 1

c2,C4 T — 28yt o aTy — 1

¢, Cs y'" + 33y + ... + 8704y — 1024

Cs5,Cq, C7 y17+24y16+f3y71

€10, C11
co Y7+ 2490 + ... — 163800y — 10000
C12 Yy 436y + =3y —1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —0.172919 4 0.9106971
a= 0.318120 — 0.3647871
b = —0.026588 — 0.5193081

—2.10523 — 1.775541

4.36935 + 3.956961

u = —0.172919 — 0.9106971
a= 0.318120 4+ 0.364787I
b = —0.026588 4 0.5193081

—2.10523 4 1.775541

4.36935 — 3.956961

u= 0.076795 4 1.1009201
a = —0.899122 4 0.7163341
b= —0.46350 + 1.813507

—6.05879 + 1.566531

—2.65237 — 1.483881

u= 0.076795 — 1.1009201
a = —0.899122 — 0.7163341
b= —0.46350 — 1.813507

—6.05879 — 1.566531

—2.65237 + 1.483881

u= 0.363317 4 1.1431401
0.676702 — 0.7458811
b= 1.01514 — 2.328607

—17.4586 + 5.51191

—1.67992 — 3.438061

u= 0.363317 — 1.1431401
a= 0.676702 4 0.7458811
b= 1.01514 + 2.328601

—17.4586 — 5.51191

—1.67992 + 3.438061

u = 0.640058 + 0.3778091
a = —1.49477 + 0.628021
b= 0.659184 — 0.7374381

—12.69310 4- 2.077551

1.82746 — 2.832801

u = 0.640058 — 0.3778091
a = —1.49477 — 0.628021

—12.69310 — 2.077551

1.82746 + 2.832801

b= 0.659184 + 0.7374381

= —0.352123

= 0.596606 0.659166 15.3270
b= 0.192432

uw= 0.197187 4 0.2871581
a= 0.27267 — 2.068211

b= —0.661431 + 0.4418921

—1.63254 + 0.691101

—1.76799 — 2.881151




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u =

0.197187 — 0.2871581

a= 0.27267 + 2.068211
b= —-0.661431 — 0.4418921

—1.63254 — 0.691101

—1.76799 + 2.881151

u = —0.04510 4 1.706021
a = —0.122781 — 0.8477561
b= —0.383269 — 1.0427101

—11.46630 — 2.626607

3.17531 4 1.465911

uw = —0.04510 — 1.706021
= —0.122781 + 0.8477561

b:

—0.383269 + 1.0427101

—11.46630 4+ 2.626601

3.17531 — 1.465911

0.01853 + 1.757911
—0.40235 + 2.319461
0.01866 + 3.081541

—16.4472 4 1.96331

—2.49608 — 1.090201

0.01853 — 1.757911
—0.40235 — 2.319461
0.01866 — 3.081541

—16.4472 — 1.96331

—2.49608 + 1.090201

0.09819 + 1.765301
1.35323 — 2.624761
1.24559 — 3.745961

11.60450 + 7.504721

—2.43940 — 2.607271

>~ Q@ €| @ €|l & &8> & &

0.09819 — 1.765301
1.35323 + 2.624761
1.24559 + 3.745961

11.60450 — 7.504721

—2.43940 + 2.607271




II.
IdD=(b+u+1, —u*—u®—4u®’+a—2u—2, u®+u*+4u+3u?+3u+1)

(i) Arc colorings

)

ail = \u

;)

u
u

\_/g)—l\_/

(

o (-

o=

(2+u szifu2u+2)
w (1)

(

(.

(

e

e

az = —u?—u—1

")
w4+ 2u+2
—u—1

ut 4+ ud —|—3u —|—2u—|—1>

ay =

ud —|—u>
u? +1
ut — 242

u?+1
ag = \ —yt — 22

(ii) Obstruction class =1

(iii) Cusp Shapes = 3u? + 3u3 + 12u? + 10u + 7



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2 (u—1)°
cs3,C8 u®
Cyq (u+1)°
cs, Cg, C7 Wt ut + 4P +3u+3u+1
Cg, C12 ub—ut Futtu—1
€10, C11 ub —ut +4u® — 3u? +3u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
5
C1,C2,C4 (y_l)
C3,C8 y5
€5, C6, C7 y® + Tyt + 16y° + 13y + 3y — 1
€10, C11
Co, €12 v -yt 4y’ -3yt 3y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + y/=1C)

Cusp shape

u = —0.233677 + 0.8855571
a = —0.487744 4 0.170166.1
b= —0.766323 — 0.8855571

—3.46474 — 2.213971

—1.39794 + 4.052731

u = —0.233677 — 0.8855571

a = —0.487744 — 0.1701661 | —3.46474 4+ 2.213971 | —1.39794 — 4.052731
b= —0.766323 4 0.8855571

u = —0.416284

a= 1.81849 —0.762751 4.79030

b= —0.583716

u = —0.05818 + 1.691281
a = —0.92150 — 1.100711
b= —0.94182 — 1.691281

—12.60320 — 3.331741

—1.99723 + 3.462991

u = —0.05818 — 1.691281
a = —0.92150 + 1.100711
b= —0.94182 + 1.691281

—12.60320 4 3.331741

—1.99723 — 3.462991
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 ((u—1)%) ('™ 4 28u!® + -« +47u + 1)
C2 (uw— 1)) (u'™ — 6u® + -+ 11u — 1)
c3, Cs W (u' +utf 4+ 32u — 32)
Ca (u+1)®) (" —6u'® + .- 4+ 11u — 1)
C5, Co, C7 (u® +ut + 4u® +3u® +3u+ 1) (" + 20+ —3u—1)
Co (u® —ut +u® +u— 1) (" + 2u'® + - — 20u — 100)
€105 C11 (u® —ut 4 4u® — 3u® + 3u — 1) (' + 20 4 - = 3u—1)
c12 (b —ut + o u— D)W+ 18P 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

“ ((y =) (y'7 = 729" + - +2319y — 1)

c2, €4 ((y = D) (Y'T =28y + - +4Ty — 1)

¢s, Cs yP(y'" + 33y .- 4 8704y — 1024)

C5,Ce, C7 (y5 + 7y4 + 16y3 + 13y2 + 3y — 1)(y17 + 24y16 4o —3y—1)

€10, €11
€9 (y° —y* + 4y — 3y% + 3y — 1)(y'7 + 24y*® + - -~ — 163800y — 10000)
C12 (y° =yt 4+ 4y =32 + 3y — 1)(y' " + 36y + - =3y — 1)
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